H & 0l & AHS B Ml A

S CAIKH A D
M HY2AZHI(SAIKHADL) (DIEHDIEH

el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 36,001,946 40,194,700 AN4,192,754
= 948,423
[ 8,632,000
= 465,750
Ea 24,065,773
CH 1,900,000
HYE2AZHI(SAIKHAEDE) (O1EH/DIE}) 61,740 59,690 2,050
Jl=23H| 61,740 59,690 2,050
Jl=23H] 61,740 59,690 2,050
201 fet=23y| 28,152 27,768 384
01 AtR2te|HI 25,752 25,368 384
SLIEER=1] 18,840
—ARd 29 287
300,000 * 122 3,600
—TgH E4 2(2a)
200,0002 x4 +2CH*43] 6,400
—oelE £l P(SY)
140,000 *5CH *4 2] 2,800
—=AD EY S 72
250,000& *1CH*42] 1,000
—=ZASX 7Y 20,0002 * 10084 A 2,000
—ueRse 400, 00024 #42) 1,600
o S [R-TI=-IE IRt
120,000« 12& 1,440
O=gl 8,000 x 18 44! x 122 6,912
2 35234l 2,400 2,400 0
0332 € MAl 200,000 * 122 2,400
202 048l 29,988 28,322 1,666
01 2L AL 29,988 28,322 1,666
OSM2Y Jl=eEE ol
108,000 x18H 122 23,328
ozelolI(A3S B4 S)
74,0002 x18H 5 6,660
203 HR=H| 3,600 3,600
M A2 LRFEI 3,600 3,600
OR A2 LET (FRA2001015H)
300,000 x 122 3,600
=E9 J& 2 0IS(2ELXNAMNL/NALEAI) 1,860,760 2,097,070 A236,310
T2 HE = 865,360 85,490 769,870
THEAIE 2 865,360 85,490 769,870
201 er23 | 95,360 85,490 9.870
01 At2teltl 44,360 34,490 9,870
OogzAHEas 2o+
100,000 x17H+73] 11,900




2A:

S AIRH A4 D

[ 2E9| K= Y 0IZ(FELXNANL/NALTAI)
chel: 22l E (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2ZHE @3 (H1,2,32 0491 28l) 519
g 100,002 72 *303! 21,000
OZANERE 29 A2EE S 7Y
100, 00024 +3 53] 1,500
OZAINE ARFA X2t AR
830, 0002 * 122 9,960
®2 3324H| 51,000 51,000 0
ORERS 4502 *1,0002* 128 5,400
Oxg &l 300, 000! * 122 3,600
OIS DB X228 21,000,000 21,000
OKRAS(SAIHIEZ0F) X228
21,000,000 21,000
401 AlEHIL S OHHI 760,000 760,000
01 Al&ZHI 760,000 760,000
Oz S™p2ie +2 8
700,000,000 %14} 700,000
Oz22H& HH 29 60,000,000 60,000
TABE 22 1,005,400 2,011,580 1,008, 180
CABY x4 1,005,400 1,005,280 120
201 Ler2 | 4,800 4,800
®2 33244l 4,800 4,800
OYAZ ORIEY T2
40,0009+ 128 4,800
203 LR EX| 600 480 120
08 Al ET A2 FAIY| 600 480 120
OSAIZAZY ABEE
20,0002 *5% *63! 600
401 AlEHIZL S OHHI 1,000,000 1,000,000
01 Al&ZH] 1,000,000 1,000,000
ONSH#IEIR 282 =4
1,000,000,0004 * 14! 1,000,000
AU JIBHRL (SELXISINL/AAE) 308,600 2,659,352 22,350,752
ARAICHT =4 308,600 2,659,352 N2,350,752
ArICHT =4 308,600 2,604,352 2,295,752
201 YEr2KH| 3,200 3,152 48
01 AFR22/H| 3,200 3,152 48
OFAD|I| A2E ¢
250,00024*1CH+83] 2,000
ozl 8,000 *32*502 1,200
202 Oit 4,800 4,800
01 3LHoH| 4,800 4,800
OAHATH] X4 szt
20,0002 *3%*80 4,800
203 YR ETH 600 400 200
03 Al EZ Y2 FAIY| 600 400 200




A SAITHAE D
HE: NN J|BES(BELTI AN/ MSET)
2l A =Y (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMHEI 24 ERFA F2012 X
20,0003 x5 +63] 600
403 AXIEHMSAH=01d 300,000 2,596,000 A\2,296,000
02 ST 2SOt =2 A P E A I 300,000 2,596,000 22,296,000
OFHLBMACT] NP2 HESAH (&
OXl) FIF 242 300,000,000 300,000
AADIBIAIE B S (S ELXSNL/AAET) 6,806,605 3,312,160 3,494,445
TESH S 2 (SSNLAILSESINA) 10,000 10,000 0
S3ANEE R+ 10,000 10,000 0
401 AIEHIX SO 10,000 10,000 0
01 AlZH| 10,000 10,000 0
OFESH SEAE= 2=
10,000,000 10,000
AAET] ZE(SSNLASELESIH) 6,796,605 3,302,160 3,494,445
SEHAPMHER ZHAIS 6,796,605 3,302,160 3,494,445
401 AIEHIZ SR 0HYI 6,796,605 3,302,160 3,494,445
01 AlZHI 6,150,000 3,300,000 2,850,000
ORSAE ZHAIH(3RHE) =0t
5,500,000,000& *14] 5,500,000
Osgargt ZHAY(ES 33)
450,000,000 * 14 450,000
OAZESZ IS ZAHSAAIBRHE) 89
200,000,000 *14] 200,000
02 2l 630,000 0 630,000
OAUEAG 2 Z2A(3XHE)
630,000,000 * 14 630,000
03 A2 2 0HYI 16,605 2,160 14,445
OFgatet ZdArE A2 20
6,150,000,000&*0.27% 16,605
SAHE 2e(FELRSNL/XALCAI) 6,841,474 8,649,664 1,808,190
CAA=AS 6,469,540 8,344,664 A1,875,124
SAAEEZ JHM 5,213,280 7,751,280 22,538,000
201 er23| 960 960 0
01 At2teltl 960 960 0
S el 8,000& x3&»40& 960
203 HF=AH] 320 320
03 A= PR FA| 320 320
O2AEANAHEEZ JRF
20,0003 x4 x4 320
401 AIEHIZ R HYI 5,212,000 7,750,000 A2,538,000
01 Al&HI 5,212,000 7,250,000 /2,038,000
028 TAHEEZ(S21-754) HEA
3,572,000,000& 14 3,572,000
028 ZAAHEE2(E23-254) HEAA(2
=) 350,000,000 * 14 350,000




2A:

S AIRH A4 D

A SAHE 22(FEXNGNL/XNALCAL)
SRl ZAIHE A (SH &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
ORE ZAAEZZ2(AR2-10354) HEAIY
500,000,000 » 14 500,000
028 SAAECZ(A22-85H) HEAMY
350,000,000 *14] 360,000
ORY TANEZ2(AR22-11354) HEAY
2= 200,000,000& *14] 200,000
028 TAHEC2(E23-254) HEAA(2
HE) 23 L2 AL S
110,000,000 *14] 110,000
028 SAAHE 2 (AR2-535 M) HEAY
2ANEAH ES 20,000,000 *14] 20,000
ORY SANEZ2(AR22-1175d) A&
9 20,000,000& * 14! 20,000
OR8 ZAHEEZ(E22-M45H) JI2S &
XIS A 50,000, 0003 » 14 50,000
ORd ZAHEEZ2(S22-645H) 2+ 4
M AMH 40,000,000 *14] 40,000
TAAEAIEE RAlI& 256,260 291,224 A34,964
401 A2 HIZL R 0HbI 256,260 291,224 A34,964
01 Al&HI 255,000 290,000 A35,000
Oogz TAIHZAIEE FA2c
10,000,000 * 104 2 100,000
O TANECZ U 2tz EL3A
15,000,000 15,000
ORY TAANECZ(AZ22-1215H) R+
TESA 25,000,000 *14] 25,000
O TAANECZ(A22-BSH) 2 1A
OtAZ THEESAL 15,000,000 * 14| 15,000
O9d TAHEE2(E52225 ) tisIhd
At 100,000,000 14| 100,000
03 AIZSTHYI 1,260 1,224 36
OFAHEAIZ= RA2el A2
175,000,000 0.72% 1,260
ZINI0ITY TAHE 2 JHE (KHA) 1,000,000 302,160 697,840
401 AlEHIZL S0 1,000,000 302,160 697,840
01 Al&ZHI 1,000,000 300,000 700,000
OFJINIEY “AHEEZ A5l 24=
1,000,000,000& 1,000,000
01T HAE&H(EI0IZHURLaSEIA) 271,934 270,000 1,934
018 A2 271,934 270,000 1,934
401 AIEHIX R0 271,934 270,000 1,934
01 A28l 271,934 270,000 1,934
OZJI0IEd tA2d N&E=s ENHYI
51,934,000 51,934
O=EA=E0l 2jet |0/ W24
220,000,000 220,000
NEHEZ A 100,000 35,000 65,000




2A:

K ZH -
oS>

S AITH A4
SAAHE 2e(2ELXGNL/X

(u]

IS Al

hl

el HEHNEZ ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A2 22 100,000 35,000 65,000
201 Ler2 | 40,000 5,000 35,000
R 2224l 40,000 5,000 35,000
OXRENER JIZS M2
250,000 128 3,000
OAIEEYI KX 2,000,000 2,000
02024 2|F T MEALE I+el
35,000,000 35,000
401 AlEHIL S OHHI 60,000 30,000 30,000
01 Al&HI 60,000 30,000 30,000
ORNENEZ AME |22
30,000,0002 30,000
Oy MEAT2 (L W-IHAL 724 FH|
A 30,000,000 * 14! 30,000
20 S8H 2A(FELXAMNL/XSLZAI) 7,047,575 8,648, 188 A1,600,613
z 6,919,000
z 128,575
2E9 =23 | 7,047,575 8,648,183 1,600,613
E 6,919,000
z 128,575
SREXE KAINLH 7,047,575 8,648, 188 1,600,613
b 6,919,000
z 128,575
401 AlEHIL S OHYI 7,047,575 8,648,188 A1,600,613
z 6,919,000
z 128,575
01 Al&HI 7,030,000 8,630,000 1,600,000
OXIBA-BH24A BRYUE ALY ZHA
& 6,124,000,0002 *14! 6,124,000
7 6, 124,000
0oy =8t ARXCR| AHAIE ALY
906,000,002 *14] 906,000
7 795,000
2 111,000
03 Al CHH 17,575 18,188 1613
LRNEXY KAWL AIELHY]
7,030,000, 0008 %0. 25% 17,575
TAZR L OHL(FELXSNL/NHLTAI) 5,69,615 2,383,274 3,333,341
z 1,713,000
=S 343,000
z 1,740,615
CH 1,900,000
S AITHA AP 5,69,615 2,363,274 3,333,341
b 1,713,000




2A:

S AIRH A4 D

3 SA2el & WL (REXLXNGNL/XALEAI)
el CAITHAANY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 343,000
s 1,740,615
CH 1,900,000
CAIHS 23t 632,208 446,047 186, 161
101 e124d| 157,768 126,607 31,161
M IRMZZNEE 157,768 126,607 31,161
OSAITHMXIZHE Q12| 127,311
—dEE 4,181,810 «1&~12& 50,182
-3 3,213,603 x2H 123 77,129
O=&0d 20,0003 +3E*10L 12 7,200
Oxn2R4g
12,8502 *x3E*20A1 2t 122 9,252
OSATHMXIRME 4282
127,311,000 *11% 14,005
201 fer23| 50,040 45,040 5,000
01 AtR2t2|HI 25,440 25,440 0
OZATHMXAME AME2SE 7Y
6,000,000 6,000
OAMIOILE & W=eliEs % S22 S A
1,000,000& «12& 12,000
Or==1:] 8,000& =32 *60 1,440
OFANEAIS NHEE
100,000& #3A12++202] 6,000
02 S3=gHl 14,600 9,600 5,000
OZANESSOIZAE 352
800,000& * 122 9,600
O EZAITHEERIZE A3
5,000,000& 5,000
03 A= I 10,000 10,000 0
OZAIMY SZ2AIE =& SHAKKIE
10,000,000 10,000
202 04| 3,000 3,000
01 =LHOLI 3,000 3,000
OZAIHEAIY =& O
20,0003 38 50 3,000
203 HR=H] 1,400 1,400
03 A=A RN 1,400 1,400
OZ AT ALY A=A
20,0002 %102 +73] 1,400
401 Al HIZ S OHbI 420,000 270,000 150,000
01 A28l 420,000 270,000 150,000
CAMEES0IBAIE =AI2e]
10,000,000 #4JH A 40,000
OZANY 2 =& AMtHHE =8 &4
250,000,000 * 14 250,000




2A:

S AIRH A4 D

3 SA2el & WL (REXLXNGNL/XALEAI)
Sl TAITHAANY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEAIHMXIZHE KSEXI SA
70,000,000 * 14 70,000
OFE0ta g2t NSEX SA
60,000,000 »14! 60,000
SSXT AN FEALS 2,838,407 375,000 2,463,407
= 1,525,000
= 305,000
o 1,008,407
101 21A4H| 84,407 77,730 6,677
04 JIZtN2 2N S 2 84,407 77,730 6.677
OSEXAHE 2124| 66,161
—&E 2,756,600 «2E 12 66,161
OE&0it| 20,0002 x2&*10&* 122 4,800
Ozxu=z2e=g
12,8503 x2& *20A[ 2+ 123 6,168
(@ZIN L-=y= Y= 66, 161,000 *11% 7,278
201 2= 12,000 12,000
01 AtR2t2lt] 6.000 6,000
O XIJHE 24| 500,000& * 12 6,000
2 35234l 6,000 6,000 0
O NAHE 332
500,000 * 12 6,000
307 @I2t01 & 10,000 0 10,000
[ 6,000
= 1,200
o 2,800
02 2IZHBYAIHE £ 10,000 0 10,000
OdsSA7 FUSZAY
5,000,000& 22 10,000
[ 6,000
= 1,200
= 2,800
401 AIZHIX S0HH 2,632,000 285,270 2,346,730
[ 1,459,000
= 291,800
= 881,200
01 Al&H| 2,632,000 285,270 2,346,730
Ods2 &, MUE A1 eSS ELh TAl
Ml = A 2,632,000,000& *14] 2,632,000
[ 1,459,000
= 291,800
= 881,200
402 2IZtA=01d 100,000 0 100,000
[ 60,000




2A:

S AIRH A4 D

BH: CAZ2 YN (RELTIGHL/NHUCAI)
el SAITHAANS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,000
s 28,000
02 QI X2 AL EE(0IETHE) 100,000 0 100,000
ONEXT T42IA
10,000,000 * 10 100,000
= 60,000
< 12,000
= 28,000
SSA7 ZAITH ALY 326,000 1,542,227 1,216,227
= 188,000
[ 38,000
T 100,000
401 Al HIZL 201 326,000 1,542,227 1,216,227
s 188,000
== 38,000
o 100,000
01 Al&HI 326,000 1,536,694 A1,210,694
OESX7 TAITHY QFAIS
326,000,000& x14] 326,000
s 188,000
s 38,000
s 100,000
ZZEC FHXHEH =& (XA BUHEIIS) 1,900,000 0 1,900,000
CH 1,900,000
401 Al HIZ S OHbI 1,900,000 0 1,900,000
CH 1,900,000
01 Al&H| 1,900,000 0 1,900,000
ORZEC ¥ NJHH ZEMY
1,900,000,000& » 14 1,900,000
CH 1,900,000
XN (REXXISINL/RIHALEAl) 70,000 30,000 40,000
SAHEAS (SLNLAILELESIA) 70,000 30,000 40,000
old SSAT SHAONLAE 70,000 30,000 40,000
401 AlZHIZ SO 70,000 30,000 40,000
01 A28l 70,000 30,000 40,000
O2g =X+ SHRONLAS (1EHH) HIE2
gAE |28 20,000,000 20,000
Oy SSX7 SXDNLAIL(1EH) AIES
FAl2el 50,000,000 50,000
=HEEME (ARSI /F==4) 240,546 198,500 42,046
= 36,223
= 7,350
Ea 196,973
SEF AN 221,546 179,500 42,046




2A:

S AIRH A4 D

3 FHEZNE(ARISXI/ =)
el sSEFASEMNE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 26,723
=S 4,500
s 190,323
SELEIHIAIE 25,000 35,000 10,000
== 4,500
[Ea 20,500
301 22N = 25,000 356,000 10,000
= 4,500
s 20,500
14 J|EI2 &S 25,000 35,000 10,000
OSEUTTHI(FH)AY BA(£HO0IEX
=5 1,000,000& * 195 19,000
= 3,420
Ea 16,580
OsZEUHIHI(EHN)AE 2H4(LEHIS)
2,000,000 *35 6,000
[ 1,080
Ea 4,920
HAsHE BIEHE & EAHIXZ 42,500 42,500
301 LEtE NS 42,500 42,500
14 IIEt2d3 42,500 42,500
OAsHER BTN
2,000,000&*10= 20,000
OFAsHER AFEAHl XA
1,500,000& * 15 22,500
MNASHE SU 252 A 10,000 10,000 0
501 A= 10,000 10,000
01 2t &2 10,000 10,000
OHASE AU2E3 X
10,000,000 10,000
A BSFE2e| K (XHA) 77,600 92,000 A 14,400
402 2IZtA=01d 77,600 92,000 14,400
01 QI XHZ AL E (KM THE) 77,600 92,000 14,400
OARDBEFHAILIMNE A
77,600,000 77,600
SEPEEHIANS (XEAI) 13,000 0 13,000
301 22N = 13,000 13,000
14 JIEt2 8= 13,000 13,000
O=ERIHTHI(EN) A 2 (=20IEX
) 1,000,000 x9= 9,000
OsZELETHI(EN)ANE 2BH(LEES)
2,000,000& 25 4,000
sEESFS AR ZAL 53,446 0 53,446
= 26,723




SA: SAITHA D
Ha: FHEANS(ASI=X/F)
o9l SEFHEAINM

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
[ 26,723
207 AR | 53,446 0 53,446
= 26,723
= 26,723
01 H2=9| 53,446 0 53,446
O=sEMNSRES NI ZTAL 53,446,000& 53,446
= 26,723
= 26,723
ZHOHC! FAHHE2 =Y 19,000 19,000 0
= 9,500
= 2,850
= 6,650
SHE ZO{el FEIHZAS 19,000 19,000 0
= 9,500
T 2,850
= 6,650
402 QI+ Rt=01H 19,000 19,000 0
= 9,500
& 2,850
= 6,650
03 QIZtRIErALRHI 19,000 19,000 0
Os0E ZO0HC! FEIHZ ALY
19,000,000& 19,000
= 9,500
& 2,850
[ 6,650
I ZMESH(AISISX /I ZMEEEH) 1,145,200 1,142,900 2,300
= 912,200
T 115,400
= 117,600
J|=Me=g KA 1,141,200 1,142,900 A1,700
= 912,200
& 114,200
o 114,800
FAH=HAA 1,140,800 1,142,900 A2,100
= 912,000
& 114,000
= 114,800
202 0idl 800 400 400
01 =LHO4b]| 800 400 400
OFH=0 g2 =& ol
20,0003 x2F 20 800
301 LEtENZ 800,000 801,130 A1,130




SH EAIAD
FH: J|ZMEBEH(AIZSX/ I ZHESEE) )
‘3%;2 DIES - e= NIAL (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 640,000
= 80,000
= 80,000
01 A 2EHHZ ([ REETR) 800,000 801,130 21,130
Ol =dex2 X =HS0H(LR2H)
800,000,000& 800,000
= 640,000
& 80,000
i 80,000
403 REXISHHIS K201 & 340,000 341,370 1,370
= 272,000
& 34,000
i 34,000
02 ST 2 SOHER=2ERIEFAIS I 340,000 341,370 A1,370
OINEMELTT £HRXZ0(F42])
340,000,000& 340,000
= 272,000
& 34,000
i 34,000
BIZANK A=K OIAE] KR AHS 400 0 400
= 200
& 200
301 LBENZ 400 0 400
= 200
= 200
01 A2 & X Z2(2REETA) 400 0 400
OBIEAAHY HFXE OlAHH] X &AL
400,000& 400
= 200
= 200
FHR K& 4,000 0 4,000
= 1,200
= 2,800
SMIARDL TIoH A MelCiE Ol RtKI& 4,000 0 4,000
= 1,200
= 2,800
301 LetENEZ 4,000 0 4,000
& 1,200
= 2,800
02 AISI 2GS (HAAS, RLTHR) 4,000 0 4,000
OXANIALD| HIcHAH M2ltHZE OIXHAIA
4,000,000 4,000
& 1,200
i 2,800




ST AT
3 EXNAH=2(REXNSNL/XAL Al
=@t AFKE 2el (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXNASZ (I ELXANL/XNLALZAI) 261,532 2,881,742 A2,620,210
A5 A 2el 243,532 2,864,382 A\2,620,850
A5 A 2el 164,332 209,540 N\45,208
201 fer= 3| 11,872 11,440 432
01 At 2t 11,872 11,440 432
Oget=EH| 2,400
- A2 5§ =28 7Y
300,000& x2LH*42] 2,400
OF=F 1l 3,072
—S &0 & 5L - ORAZFEN SEHI
8,000 x4 +841x 123 3,072
Oo=zg=4 4,000
—d=5f23 S A2 HHE
100,000 x 10 #4353 4,000
O33ARIt HAa X2 & &g
200,000 x6 2 *23] 2,400
202 04| 7,200 7,200
01 =LHOHI 7,200 7,200
OA=Z 22 =& O
20,0003 4 90 7,200
401 Al HIZL 2048 145,260 140,900 4,360
01 Al&H| 144,000 140,000 4,000
OFE0ts A== SgAY
140,000,000 *14] 140,000
OMBBAE S NEE AsH HEHZAHANS
3 HE2) 1,000,000 *4= 4,000
03 Al& = HHI 1,260 900 360
OFENS A==2 A AIE20H|
140,000,000 0. %% 1,260
A5 2el 79,200 2,654,842 N2,575,642
201 Ler=23 | 19,200 14,400 4,800
2 s5=34l 19,200 14,400 4,800
O0RIZ&EH MIIR3 & 2382
400,000 * 122 +40H 2 19,200
401 AIEHIZ SR THYI 60,000 2,640,442 A\2,580,442
01 AlZ8| 60,000 2,590,000 22,530,000
O3l F&xd 2=
10,000,000& * 14! 10,000
OFgu~dlgty Z2xrE EXAY
50,000,000& » 14 50,000
s 2l 18,000 17,360 640
1 22 18,000 17,360 640
201 ZBt=Ehl 3,200 2,560 640
01 AtR2t2|HI 3,200 2,560 640
Oget+=EHI 2,000




M SAIH A

3 EXNAH=2(REXNSNL/XAL Al
ol SZ3l=E 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Z1s ¥ S =2 7¢
500,000 42| 2,000
o2Yay 1,200
—2D22| Y XIS BAL
g 100,000 4 & +33] 1,200
202 04l 1,800 1,800
01 2LHoIH 1,800 1,800
OZ = 2| =& 0l
20,0003 x2& =45 1,800
401 AIEHIX S0 13,000 13,000
01 AlZH| 13,000 13,000
O+ XNEAHNAL 2+ S | 22|
13,000,000 * 14! 13,000
WAL S(S/BN - MYLK) 153,000 4,802,160 A4,649,160
WIEAIEI|EEY 153,000 4,802,160 24,649,160
Olcfusd =4 X2 153,000 4,802,160 A\4,649,160
201 et23| 1,000 1,960 A960
01 AtR2telHl 1,000 1,960 960
Odgt+==H| 1,000
425 & 28 7Y 1,000,000 1,000
401 AIEHIZ SR 0HYI 152,000 0 152,000
01 Al&H| 152,000 0 152,000
21X 018SI| & &S 2,000,000 2,000
Oblcfusa 22X &4 150,000,000 150,000
HRES(SAIHM) (R ELXANL/RHLEAI) 5,508,299 3,350,000 2,158,299
LIS HHXIE 5,508,299 3,350,000 2,158,299
SAZ NI ISHES 10,000 10,000 0
RISHES 10,000 10,000 0
UIPIETSE— 10,000 10,000 0
O=dZ eIz HEs
10,000,000& 10,000
SSHLMASEHEES 5,498,299 3,340,000 2,158,299
701 JIEtRI HSHES 5,498,299 3,340,000 2,158,299
01 JIEt=I AN ES 5,498,299 3,340,000 2,158,299
OSgNEA SEIH HES
5,498,299,000& 5,498,299




